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Time : 3 Hours

V Semester B.A./B.Sc. Examination, November/December 2016 __——
(Fresh) (CBCS Scheme) (2016-17 and Onwards) [ G
ECONOMICS -V
Corporate Economics

Max. Marks 0

Instructions : a) Answers must be written completely either in Kannada or
in English.
b) Answers of Part — A should be continuous.
c) Answers should be precise.

PART-A
(Conceptual)

1. 39N cInRIEEER 10 Srer 2-3 T EU30k. B3iRoD> JIR 2 e0indd

Answer any ten of the following in 2 or 3 lines each. Each question carries
2marks. (10x2=20)

a) BOBIOD BTFCR.
Give the meaning of corporation.
b) 30 F0W0H ARF BES DOTITE ?
What is corporate management ?

C) Boma A0WOR 0dnex30304 é)c,ﬁr{@ddgt TR0

Mention four types of corporate planning.
d) SIS RTRRE VBFBHOL STF e,
Give the meaning of Human Resource Management.
e) Nowoo2T ARF BB 0T ?
What is Risk Management ?
f) SR BoBIRE cdpexSod 4 FodRewINTS) 394,
Mention four benefits of Human Resource Planmng.

g) 2PNSCTOT BGF JeR.

Give the meaning of ‘Globalisation’.
h) C3REYEECR4 LI Tady 0D TOTINYE) FROR.
Name any four MNCs.
P.T.O.
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®
i) W.T.O. 3050,
Expand W.T.O.
j) oI ROLOR AITILIT BRTMOFOI 9TF JeR. )
Give the meaning of corporate social responsibility. 3
k) 38 my®ss, HomdesH?
What is ethical consumerism ?
) Setdots QoBTBe0?
What is patent ?

PART -B
(Analytical)

39N cARRTER 4 FINer 15 003 20 MLINE eugor. Bc3R0m TR 5 BosRw.

Answerany four of the following in 15 to 20 lines each. Each question carries
5 marks. (5%4=20)

2. 0B R0W0H) BB A BFOID TRV BODR), D02
Explain the importance of corporate governance.

3. TOWR A0WOH C3RETIOI a’a;r{@ag RO,
Explain the principles of corporate planning.

4. BRTB ROTVSRY VeI B0 emzsaeeﬁn’ﬁﬁdgt 730{:4 TN DOR.
Briefly explain the objectives of Human Resource Management.

5. w&:m%eoi) BORING @@ab&rwrfedaﬁgl QWO
Explain the disadvantages of MNCs.

6. W.T.O. & 805503, D03,
Explain the structure of W.T.O.

7. BoWR ROWOR) FOWINIT BRENVOBTOD Wiy £3a3£8 238020
Write a note on corporate social responsibility.
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PART-C
(Essay Type)

39N CIRRTTTR 4 TERer 4 FYursd edsed $ugoR. F3akeomd FF 15 903N

Answerany four of the following not exceeding 4 pages each. Each question
carries 15 marks. (15%x4=60)

8. 30D Fowod LEeE A BHoD Ty WY MFVII HFOR.
Explain the scope and importance of corporate economies.

9. FoTR BowWo 03T DRI, 0%
Explain the types of corporate planning.

10. BR3B BTIRY FRWTLF FODF NI DO
Explain the functions of Human Resource Manager.

1. SIRIS AoBIRE 0dpewSodd VNYE) I@OA.
Explain the features of Human Resource Planning.

12, wmoT0gy08 FOTANY BRBHO R STORRBRONIY QTOX.
Explain the merits and demerits of multinational corporations.

13. W.T.O. & evgiesrish @) FODF YR DTO.
Explain the objectives and functions of W.T.O.
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V Semester B.A./B.Sc. Examination, Nov./Dec. 2016
(CBCS) (Fresh) (2016-17 and Onwards)
ECONOMICS - VI
Rural Development and Co-operation
Time : 3 Hours Max. Marks : 100

Instructions : 1) Answers must be written completely either in Kannada or
in English.
2) Answers of Part —A should be continuous.
3) Answers should be precise.

PART - A
(Conceptual)

1. Answer any 10 of the following in 2-3 sentences each. Each question carries
2 marks. (10x2=20)

a) WESST CIRRYTTTR2 BRIFOBNTIY TROR.
Name any two criteria of poverty.
b) =5 3 wzsd:;; DOTTEI0 ?
What do you mean by skewed land system ?
C) CINFTTTR 2 MRR0eEd BSTRET CSRERINTY, TROR.
Name any two Rural Health Programmes.
d) 33RL R W BV orTeRd 7
What do you mean by de-silting of tanks and wells ?
e) Moa0erd a"g}aﬁore)?sd I ?
What is the meaning of rural sanitation ?
f) BascTEs Socded ?
What do you mean by rationing ?
g) 330 BLATOR 0T3EO 9

S . n
What is Micro Finance * P.T.O.

| R,
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h) en 633,08 20Bded ?
What is lead bank ?
) ADTVT BB 03RT 9
Who is the father of Co-operation ?
j) Rz%00 2 mcseﬁesg TR
Name the two models of Co-operation
K) mom00&3 Wemood DG D0TTER ?
What do you mean by collective farming ?
1) NABARD:Q( RO 2TV,

Expand NABARD.
PART-B
(Analytical)
Answerany four of the following. Each question carries 5 marks. (4x5=20)

2. rr_a)a)emzbdoc;aob @ma%b’ojadi RO3FN DZOA.
Briefly explain the importance of rural development.

3. ST Mod Tady,e08d TR,0ee0 GVBRyen 23930 adnes wrﬁ\ £33 2380000.
Wirite a note on Mahatma Gandhi National Rural Employment Guarantee Scheme.

4, :;;z{, LTS ORI w1} £3589 W0,

Write a note on ‘Swaccha Bharath Mission'.
5. g uuznESod Be3ws SRRZRY NS g:nﬁda’i RoIZTN DT

Briefly explain the measures undertaken to increase productivity in Agriculture.
6. M0 WOT JTORIR) TOA

Explain types of rural credit.

7. R®HO zﬂdsd@odx;dad a‘:bt’grfv‘dgt QT
Explain the problems of Co-operative Movement.
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PART-C
(Descriptive)

Answerany four of the following. Each question carries 15 marks. (4x15=60)

8.

10.

11.

12.

13.

POTBT MR0eed eqﬁra’gsm;ob m:;sﬁm 23237 20.
Discuss the problems of rural economy in India.

WESS 20TTERd 7 MR0erd WESIY, FCeenv), DO
Whatis poverty ? Explain the causes of rural poverty

YROSE SHFTZEDEG MRvers 78y OB §TR0ENY RRRZodY HFOR.
Explain the importance of rural and cottage industries in Indian Economy.

G DEITORT RO, DO,
Explain the sources of Agricultural finance.

) ﬁmoﬁo NOORNG vgs'an‘ei) daa’_g €930 @ma)zséojoag DOA.
Explain the characteristics and importance of self help groups.

0BT ABEIT RRYODI) DROA.
Explain the Co-operative Movement in India.

-
-
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ECONOMICS - VI W

Mathematics for Economists NS

Max. Marks : 100

Time : 3 Hours

Instructions : a) Answers must be written completely either in English or in

Kannada.
b) Answer of Part A should be continuous.

c¢) Answer should be precise.

PART -A

1. Answerany 10 of the following sub-questions. Each question carries 2 marks.
(2x10=20)

a) y = e Shman Ey FOBIGEBOND .
o Ex

Find = ify = ev
ind = ify =™,

b) RTom0 53, 20w AC = °+ 5q ©NWY, q = 38 e300 323 (MC) 50t8B0200.
If the Average Cost function is AC = ¢? + 5q, calculate Marginal Cost (MC) at
q=3.

c) X2+ 11x — 60 = 0 SNF F0EFOLIDI), ART, VGPIOOT WAL
Solve the quadratic equation X2+ 11x — 60 = 0 by formula method.

d) evzmm WorFQ=2L%+5K?- 10 KL 8Nt L = 13085K = 2 39) 33 2ezsnod
B8 (MPL) 3083 0B 2e5708 6083383 (MPK) 802880000,
Production function Q =212 + 5K? - 10 KL, calculate Marginal Productivity of
Labour (MPL) and Capital (MPK) respectively at L =1 and K = 2.

€) TOTPLF Fees RRTBEODO MR = AR TH3.

Prove MR = AR under perfect competition.
dy
fly=x5n W FOTIGBROND .

2

. dy i
Find vl for the function y = x*. P.T.O.



TRV

NS -210 2.

9, 9% -
g) t3¢a8 wows Q = 500 + 0.8y, y = 2000 eﬁf\m@r{ 375003 el ,gpémmadﬁ%

FRLAWD.
Given demand function Q =500+ 0.8y, findincome elasticity of demandaty = 2000.

h) 23R8 STOD (MR) = 8 w8) tie Wers ;&gﬁ-,-%wﬁ% (n) = 3.5 SNTRN ATRO
ST (AR) 30R0&HEOWD.

If Marginal Revenue (MR) = 8 and price elasticity of demand (n) = 3.5, find
Average Revenue (AR).

i) S9NS InFFri3A — 2B 50BRBOD.

4 -2 2 5
Calculate 3A — 2B for the following matrix A} o B=1_, 4|

j) 2e308 53 o MC = 95 +24q, q = 286 2t B3 (TC) F0T30&BOUD.

Given the Marginal Cost function MC = 95 + 24q, find Total Cost (TC)atg=2.
[ Eeviolieyeriel R)m%oe’ QOB ? 0RUTTTRT ﬁoa%oa’d R, WBOW0.

What is Euler's theorem ? Write Euler’s theorem formula.
1) 2,000 &RO3 Beo 3638 108 WRETH0E ok FamN QTR 2300 TBYREHN, QTR

SRS J033 2ROT Bed @mjbgd @owd&% BOTOEEOND.

Find the principal amount bi-annually after two years at 10% rate of interest
for the existing principal amount of X 2,000.

PART-B
Answer any four questions. Each question carries 5 marks. (4x5=20)

2. BN WO, WOWTT NOTG w08 BT FOTROGBOWD.
y=x+5x2+8x+5
Calculate maxima and minima for the following function y = x® + 5x2 + 8x + 5.
3. Boaiors woesU =29, + 20,0, + G, TN Wk’ 2028100 = 24, +q, IRFONRT
ABRBREVTT q, 824, dﬁ%ﬁ@&l BOTIZEOND.

Given the utility function U =29, + 29,9, + q, and budget functi N
find the equilibrium values of q11and &2,2 ? g ction 100 =2q, + Q,

4. RooR0 3 BFONTNMC = AC 200 Q3.
Prove that MC = AC at the minimum of AC.,
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5. 3TN VIROF BAeFTaner x TR y BT, FOROLBOWD :
Calculate values of x and y for the following simultaneous equations :
4Xx+3y-7=0
3x - 2y -9=0

6. 13eR% Wows q =40 - 8p - 2p?, p = 4 NN WS We@ 18T, () ) FBY 2eP02
SO (MR) 30R0&HR0.

If the demand function q =40 - 8p —2p2and p = 4, find price elasticity of demand
(n) and Marginal Revenue (MR). -

7. emc%aﬁa #o:}pwo SUBITBI0 WL Q = AL%K}{‘ e:sﬁcig3 O3RVT* BT AORT ABI0DROT
ZRRIVTCD @mddd& me{kﬂ
Verify the adding up controversy by Eulers theorem for the following production

function Q = ALK/,

PART-C
Answerany four questions. Each question carries 15 marks. (4x15=60)

8. m,ZIod efe@s wows p = 50 — 0.1q =0y 23,d0ws ¢ = 0.029% + 14q + 800,
QEO0T FRBRCVI LS (p) em:iag{ (9) &%) @3 () BorRdEGBOWD.
If monopolist demand function is p = 50—0.1q and cost function ¢ = 0.02¢? + 14q + 800,
find equilibrium price (p) quantity (q) and profit (n ).

9. 23e@d Wowdp = 20 — 5x 0B YT WowWBP = 4 + 3X [YBOOT ARIBRVTIHE WS R
em:aﬁ TOBOIHROWD. TINO3E WDIPRENNS BOT B [02Y LSBT BOT &
B0 BOD.

Given the demand function p = 20 — 5x and the supply function p = 4 + 3x, find
equilibrium price and quantity and also find the consumer’s surplus and the
producer’s surplus.

10. 89N 23e@E RBY TFTF WoWBNVR ARBRVTH B 308 eméwai FOTOGR TITIF®
R0 WRRFO*TDC YFT BR0EE ARIRIHE 1030, Toedd Qd = 100 - 3p
353 Qs = 50 + 2p.

Calculate equilibrium price and quantity for the following demand and supply
functions and also verify market equilibrium stability according to Walras and
Marshall Qd = 100 —3p and Qs = 50 + 2p.
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1. t3e&3d 10003 Qd = 200 - 4p 303 pds wowzQs = 440 — 16p RO ARV

12.

13.

TS ) YU FoRABHEROWD. .07 e ATFT TIPUT,

a) 0FR ot de. 5 S TR

b) ROFR RTROTITR. 2 D, BT, BEPABAOIE NSITR) 83 FOROHBOWO.
Quantity demand function Qd = 200 — 4p and supply function Qs = 440 — 16p,
compute equilibrium price and quantity. Find new equilibrium price and quantity if
a) The government imposes specific tax of ¥ 5 per unit.

b) The government provide subsidy of ¥ 2 per unit.

20ZPEoF Fgpers InTTHDY 1o YUSITH TUTY g, oI g, Bk ATDNID
SUSDOROST) TR ? 12 doeb 4 186@ S0 drac&:dd QU1 oL dd
woessY C = 2¢F + 2% +qQ, ShTR ABRewT ¢uSs q,, qzdoj_g o3 (n )
FORORHBOWD.

Under perfect competition a firm sells joint commodities g, and q, at prices of

3 12and 18 respectively. The joint cost function of the firmis C = 2¢% + 2¢ + q,q,,
find the equilibrium values of q,, g, and profit (x ).

DT ForoPAT RTNY tIe@F e Q, = 400 - 5p, +6p, 3o2Q, =500 +2p, - 4p,,
P, =332 p, = 4 SNTAN My My; Ny Mz MY 30RRE0 BOBINEL RO ATNYOD
a’beﬁj.

Given the demand functions of two related commodities are Q, =400 -5p, +6p,

and Q,=500+2p,—-4p,, find n,,n,, n,, N, and also examine the commodities
are substitutes atp, =3 and p, =

.,\



